=

s———2%%
b...:
g
3

Castors & Levelling Feet and Accessories

(—/
-
[~
-]
-, F
. 11
—3
(1-]
Ordering Information
HCS P/N Description Quantity L o (G Py Suitable Cabinet Type Notlar
(kg/pcs)
C00-04A01 Set of 4 x Castor group - 2 with breaking system. 4 25 Wall Mount -
C00-04B01 Set of 4 x Castor group - 2 with breaking system. 4 60 Wall Mount -
C00-04B02 Set of 4 x Castor group - 2 with breaking system. 4 150 Free Standing -
C00-04B03  Set of 4 x Castor group - 2 with breaking system. 4 250 Free Standing & Server -
C00-04D01  Set of 4 x M6 adjustable levelling feet 4 - Wall Mount -
C00-04E01  Set of 4 x M8 adjustable levelling feet. 4 - Free Standing -
C00-04F01 Set of 4 x M10 adjustable levelling feet, PVC based. 4 - Server -
C00-04F03  Set of 2 adjustable stabilizer set for server cabinets (2 pcs) 2 - Server -
Screws & Mounting Accessories
Ordering Information
s . Additional Items
HCS P/N Description Quantity Included Notes
C00-05A01 M6 set (cage & nut & washer) 4 - -
C00-05A02 M6 set (cage & nut & washer) 20 - -
C00-05A03 M6 set (cage & nut & washer) 50 - -
C00-05B01  M6x65 mm Sleeve Anchor Wall Mounting Set 4 - Wall Mount Cabinets
C00-05B02  M8x65 mm Sleeve Anchor Wall Mounting Set 4 - Wall Mount Cabinets —
C00-05C01  M6x65 mm Pipe Type Anchor Wall Mounting Kit 4 - Wall Mount Cabinets e
C00-05C02  M8x65 mm Pipe Type Anchor Wall Mounting Kit 4 - Wall Mount Cabinets g
=
o
(-]
-
[
3
@
—
]

Connecting Networks.™ www.hescs.com




